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Who among the following has

described “Sociology is the science
that deals with social groups” ?

(A) L. T Hobhouse

(B) Marshal Jones

(C) H.M.Johnson

(D) F. H.Giddings

Which of the following does not
belong to the synthetic school ?

(A) Hobhouse

(B)
(C)

(D)

Mannheim
Ginsberg
Von Weise

In which year Charles Darwin’s
“Origin of Species” was published ?
(A) 1839
(B) 1852
(C) 1859
(D) 1879

Who among the following said, “The
human mind can be divided into
three distinct compartments — the
Philosopher ruler, the warriors and
the workers” ?

(A)
(B)
(©)
(D)

Hegel
Plato
McDougall
Bosanquet

When a child learns to conform to his
own cultural traditions, it is known
as:

(A) Acculturation
(B) Enculturation

RS - 8/27

(2)

(C) Transculturation
(D) Cultural relativism
Match the following and select the

correct one from the codes given
below :

(Books) (Authors)
(a) TheStudyofMan (i) Roberto
| Michels
(b) The Culture of Cities (ii) Lewis
Mumford
(c) The City (iii) Ralph
Linton
(d) Political Parties (iv) RobertE.
Park

Codes :

@ () () @

A O @ Gi) W

B) (i) (i) @v) ()

(C) (i) - (v) (iii) (i)

(D) (i) (i) (v) (i)

An incompatibility betwéen' two or
more roles associated with a single
status is called :

(A) Role conflict

(B) Role exit

(C) Role strain

(D) Role set

Who among the following said
“Sociology has long past but only a
short history” ?

(A)
(B)
(&)
(D)

Ogburn and Nimkoff
Robert Bierstedt!
Morris Ginsberg

G. E. Howard
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9. Who among the following gave the
definition “Sociology is the science
of social phenomena” ?

(A) F.H.Giddings
(B) Alexinkeles
(C) Henry Fairchild
(D) L.T Hobhouse

10. Which of the following is not a

characteristics of secondary group ?
~ (A) Largeinsize
"(B) Formal rules : ‘
(C) Goal oriented
(D) Stabilty
11.  Norms are classified into three types.
Theyare:
(A) Folkways, mores, religion
(B) Folkways, mores, laws
(C) Folkways, mores, norms
(D) Folkways, mores, customs
. 12. Inany social arrangement in which the
behaviour of majority is governed by
norms and roles is known as :
(A) Association
(B) Communality
(C) Institution
(D) Culture

13. Who has said, “Man’s uniqueness
lies in his possession of culture” ?.
(A) _R.M. Maclver
(B) E.Durkheim
(C) R.Benedict
(D) K. Davis
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14.

15.

16.

17.

18.

- (©

‘D)

Who pointed out that class, status
and power are the three major
dimensions of social stratification ?

(A) - Ralph Linton

- (B) R.K. Merton

(C) Elliotand Merrill
(D) MaxWeber

Which is the main basis of
Association according fo Ferdinand
Tonnies ?

(A)

(B)

Social interest
Political interest
Economic interest
Cultural interest

(D)
Which of the following is not'a formal
agency.of social control ?

(A)
(B)
(C)
(D)
Who among the following has
classified conflict into five types :

personal, racial, class, political and
inter-national conflict ?

(A) Gillinand Gillin
(B) Maclver
(©)

Law
Education
Religion
Coercion

Simmel
Malthus

Which of the following is, not a
promoting factor of Assimilation ?

(A)
(B)
(C)
(D)

Social persecution
Toleration
Amalgamation
Similarity of cultures
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19:

20.

21

22.

23.

Who among the follower has said,
‘lliteracy and innumeracy are greater
threat to humanity than terrorism’ ?
(A) Lester Frank Ward

(B) Amartya Sen

(C) GunnarMyrdral

(D) Manmohan Singh

In which year the book “Social
Control” by E. A-Ross was published ?

(A) 1900
(B) 1901
(C) 1902
(D) 1911

Who has distinguished social groups
on the basis of contact ?

(A) Ferdinand Tonnies
(B) Georg Simmel

(C) P.A. Sorokin

(D) C.H.Cooley

A set of beliefs and values that
radically reject dominant culture of the
society and prescribe and alternative
one s called : '

(A) Subculture
(B) Idioculture
(C) Counterculture

(D) Cultural complex

Which of the following does not imply
rﬁembership 7

(A) Institution

(B) Association

(C) Community

(D) . Secondary groups

RS - 8/27

24.

25.

26.

“f 8

28.

Aperson is school teacher, he is vice
principal, member of a local club, and
president of the village forest
committee. All these positions
together constitute :

(A) Status

(B) Status set

(C
(D

) Multiple statuses
) Status sequence

Who among the foll‘owing has .
distinguished social control as.
conscious and unconscious control ?
(A) L.L. Bernard

(B) E.A.Ross

(C) Ogburn and Nimkoff

(D) G.A.Lundberg

A role is a collection of :

(A) Mores

(B) Norms

(C) Folkways

(D) Laws §ir R

‘Saciology is a science for scientific
social development’, who said this ? -

(A) E.S.Bogardus
(B) H.M.Johnson

(C) H.P. Fairchild

(D) G. Duncan Mitchell

Who gave the slogan, “one religion,
one caste and one god for
mankind” ?

(A) Mahatma Gandhi

(B) Narayan Gur(”~** zemoms (&)

(C) Jyotiba Phule
(D) B.R.Ambedkar
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29. Who among the following said, “world ~  34.

history should be considered in
terms of city history” ?

(A) T.B.Bottomore
(B) Max Weber
(C) Arnold Toynbee

(D) C.Wright Mills 35.

30. Family, Church, Trade Union and
Music Club are instances of :

(A)  Association
(B)  Institution
(C) Society
(D) Community

36.

31.  Who among the following belongs to
linear view of social change ?

(A) Comte, Pareto, Marx
(B) Comte, Spencer, Marx
(C) - Comte, Sorokin, Marx

(D) Pareto, Sorokin, Luckmann 37.

32. “Political power flows from the barrel
of a gun” — who said this ?

(A) Mussolini
(B) Mao Tse-Tung
(C) Lenin
(D) Stalin
33. Who has written the book “Human
Types” ?
(A) Louis Wirth
(B) Thomas Hobbes
(C) L.H.Morgan
(D) Raymond Firth
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38.

In which year, states of india were
reorganized on Linguistic basis ?

(A) 1950
(B) 1951
(C) 1952
(D) 1954

Which of the following is not a base
of Hindu social organization ?

(A) Harmony
(B) Humanism
(C) Hierarchy

(D) Transcendantalism

Who among the following has
identified the population of India into
six main ethnic groups ?

(A) HerbertRisley
(B) B.S.Guha
(C) J.H.Hutton
(D) A.C.Haddon

Who among the following has used
the concept “role bargaining” to
explain social class differences in
family structure ?

(A) Talcott Parsons
(B) David Cooper
(C) William J. Goode
(D) G. P.Murdock

Marriage by abduction as a
traditional form of Hindu marriage is
called :

(A) ‘Paisacha’ form of marriage
(B) ‘Asura’ form of marriage
(C) ‘Rakshasa’ form of marriage
l(D) ‘Arsha’ form of marriage
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39. Match the following and select the

40.

41.

. (D)

correct one from the codes given

below :
List-1 List - Il
(Researcher) (Area of study)
(a) F G Bailey (i) Odisha
‘ village
(b) Mckim Marriot (i) Sripuram
village
(Q) Andre Bettille (iii) Madhopur
village
(d) Berard Cohn (iv) Kishan-
garhi
village
Codes :
@ ® ©
A) O () (i) (v)
(B) (i) @v) @) )
(C) (v) (i) (iii) (D)
D) O (v) @) (i)

Which article lays down, “There shall
be a special officer for the scheduled
castes and scheduled tribes to be
appointed by the president” ?

(A) Article 339

(B) Article 338

(C) Article 335

Article 330

Who among the following holds the

view that “Democracy and Caste” are
totally opposed ?

(A) K. M. Panikkar
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42.

43.

44.

(B) P.H.Prabhu
(C) M.N. Srinivas
(D) Kaka Kelelkar

Mandal Commission was assisted
by three bodies. which is not among
the following ?

(A) Apanel of experts led by M. N.

Srinivas
(B) A research plahning team of v
sociologists
A panel of experts led by Kaka
Kalelkar

A sub-committee of experts
constituted by the technical

committee

Who among the following believes
that the classical form of family in India
is that of the Joint Family System ?
(A) Mandelbaum

(B) Iravati Karve

(C) K. M. Kapadia

(D) G P.‘Murdock

M. N. Srinivas in the context of

sanskritization analyzed the caste

systeminterms of :

(A)" Vertical mobility |
(B) Upward mobility - -
(C) Downward mobility

(D) Horizontal mobility

Contd.



45. Inwhich year, the Supreme Court in
its Judgement upheld the reservation
policy on caste basis ?

(A) 1990
(B) 1991
(C) 1992
(D) 1993

46. Which of the following is not correclty

matched ?

(A) Nairs and Izhavas — Kerala

(B) Pattidars and Kshatriyas —

Gujarat
(C) Kayasthas —Rajasthan
(D) Lingayats —Karnataka
47. Who made a distinction between

‘companionship family and insti-
tutional family ?

(A) Ogburn and Nimkoff

(B) Youngand Wilmott

(C)' Burgess and Locke

(D) Vogel and Bell

48. W. H. Wiser has referred to how
many considerations which Kamins
get from the Jajmans ?

(A) Twenty ’
(B) Seventeen
(C) Eighteen
(D) Twelve

49. The Untouchability Act of 1955 was
renamed in which year as protection
of Civil Rights' Act? "' |
(A) 19671
(B) 1972
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50

- 82.

(7)

ol
" trustee, domestic and atomistic was

53.

1976
1980

(©)
(D)
Who among the folloWing said
“Sanskritization .as a functional

concept is distinct from a historical

concept” ?

(A) Mckim Marriott
(B) M. N. Srinivas
(C) B.S.Cohn

(D) E.B.Harper

The classification of family into

given by :

(A) Harold Gould

(B) C.C.Zimmerman
(C)
(D) Gerald Leslie

Burgess and Locke

Which of the following matrilineal joint
family is found among the Nairs ?

(A)
(B)
(&)
(D)
Who first used the term ‘Rites de
paséage’?

(A) L.H.Cooley -

(B) W.H.Wiser

(C) A.Van-Gennep

(D) Harold Gould

Karnavan
Ammayi »
Tarwad

Tavazhi

(Turn over)



54.

95.

56.

57.

- 58.

Who among the following the stated
that the house in which woman is
worshipped is the abode of God ?

(A) Rabindranath Tagore
(B) Manu
(C) J.P.Narayan

(D) Dayananda Saraswati

Raj Kumar Shukla is related to which
movement ?

(A) Tebhaga Movement

(B) Champaran Satyagraha
(C) Bardoli Movement

(D) Mahar Movement

Tebhaga Movement was the share-

croppers movement demanding

of the produce from land for

themselves and ______ for the
landlords.

(A) 1/3and 2/3
(B) 3/4and1/3
(C) 2/3and 1/3
(D) 1/3and 3/4

When a special role is given to the
Father’s sister, it is known as :

(A) Couvade
(B) Amitate
(C) Teknonymy

(D) Avunculate

A phratry is composed of several :
(A) Tribes
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59.

60.

61.

62.

63.

(B) Sibs
(C) Villages
(D) Clans

Who has to pay ‘Dower’ to whom ?
(A) Wife to husband

(B) Husband to wife

(C) Brides fatherto groom :

(D) Grooms father to bride

Who is author of the book “Education
and Modernization” 2 -

(A) A.R.Desai
(B) Y.Singh |
(C) M.S.Gore
(D) S.C.Dube

In which year Telengana state was
formed ?

(A) . 2000

(B) 2014

(C) 2013 _
(D) 2012> 77 bic 8

Who was the Leader of Bardoli -

Movement ?

(A) Mahatma Gandhi

(B) Sardar Vallabhai Patel
(C). Mahadev Desai

(D) Mohanlal Pandya

Adbption of the modern ways of life
and valuesis called : -

(A) Sanskritization
(B) Socialization, ..
(C) Modernization
(D) Industrialization

Contd.



64.

65.

66.

67.

Which of the following is the correct
chronological order and choose the
correct answer from codes given
below ?
(i) Jungle BachaoAndolan
(i) Narmada BachaoAndolan
(iii) Chipko Movement
(iv) Silent Valley Movement
Codes :
(A)  (iii), (iv), (i), (i)
(B) (i) i), (i), (iv)
(C) (), (iii), (i), (iv)
(D) (i), (@), (i), (iv)
Who is author of the book “The
Structure of Hindu Society” ?
(A) G.S.Ghurye
(B) M. N. Srinivas
(C) Yogendra Singh
(D) N.K. Bose

“Mbderhization is the current term for

an old process of social change-

whereby less developed societies
acquire the characteristics common
to more developed societies”. Who
said this ?

(A) Yogendra Singh

(B) Eisenstadt

(C) Daniel Lerner

(D) Smelser

Which of the following is the base in
Augu~st_e Com_te’s Hierarchy of the
sciences? 7

(A)

(B) Sociology

Mathematics
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(9)

68.

70.

71.

®)

(C) Astronomy

(D) Biology

In which of the following work Herbert
Spencer expounded more thoroughly

the evolutionary underpinnings of his
sociological theory ?

(A)
(B)
(C)
(D)

Descriptive Sociology
Principles of Sociology
First Principles

The study of Sociology

Auguste Comte argued that the
positivist stage of history provides :

(A)
(B)
(®)
(D)

Progress and regression
Regulation and integration
Order and progress
Being and time

According to Durkheim, a soceity
with organic solidarity is charac-
terized by :

(A)
(B)
(€)

Restitutive law
Repressive law
Normative law
Divine law

Identify the correct logical order as
explained by Karl Marx :

(A) Class-in-itself, class-for-itself,
class conflict, social trans-

formation

Class-in-itself, class-for-itself,
social transformation, class
conflict,

(B)

(C) Class-in-itself, class conflict,
class-for-itself, social trans-

formation

Class-for itself, class conflict,
class-in-itself, social trans-
formation

(Tumover)
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73.

74.

75.

76.

RS - 8/27

Who among the following said,

- “Religion is the 'opium of the

people” ?
(A) Emile Durkheim

5 (B) Herbert Spencer v 77.

()
(D)
Which of the following statements is

correct ?

(A) Durkheim studied division of
labour as a political institution

(B) Durkheim studied division of

Karl Marx
Max Weber

labour as a social institution 78

(C) Durkheim studied division of
labour as a economic
institution

(D) Durkheim studied division of

labour .as an religious

institution

The concepts of “ecclesia” and “sect”
are suggested by :

(A) Karl Marx

(B) MaxWeber A
(C) Emile Durkheim

(D) Auguste Comte

Karl Marx differentiated various
classesin terms.

(A) Subjective

(B) Objective 80.

(C) Comparative
(D) Absolute

On what basis, Weber distinguished
between traditional and modern
society ? ' s

(A) Mysticism

(10)

(D)

(B) Capitalism
(C) Rationalization

(D) Bureaucracy

Weber regarded patrimonialism to
be an instance of which form of
authorjty?

(A) Modern

(B) Charismatic

(C) Rational-legal

Traditional

According to Emile Durkheim, there
is a greater frequency of |
suicide among soldiers than among .
civilians.

(A) Egoistic
(B) Anomic
(C)
(D)

Altruistic

. Fatalistic

Ideal types are td be deriived

L3

inductively from :
(A) The real world of social history
(B) The sanctity of age-old beliefs
(C)
(D)

The dialectic of enlightenment

The dialectic of class conflict

Who suggested that “God is society
divinized” ?

(A) MaxWeber

(B) Auguste Comte .
(C)
(D)

Montesquieu
Emile Durkheim

Contd.



81.

82.

83.

84.

85.
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Who among the following called
society as a super organism and
compared its parts with the various

organs of a body ? 86.

(A) Emile Durkheim
(B) Herbert Spencer
(C) Charles Darwin
(D) Auguste Comte

According to Auguste Comte,
is the study of the inter-

relationship between the various 87.

parts of human societies.
(A) Positivism

(B) Metaphysics

(C) Social Statics

(D) Social Dynamics

Who has written the book
“Materialism and Empiriocriticism” ?

(A) Karl Marx

(B) MaxWeber 88.

(C) Auguste Comte

(D) Lenin

How many religions were compared
by Max Weber in propounding his
theory of religion ?

(A) Four

(B) Five

(C) Six

(D) Seven

-In which year, Durkheim’s “Rules of

Sociological
published ?

(A) 1893
(B) 1895

Method” was

(11)

(@)

89.

1897

(D) 1894

Herbert Spencer’s “social statics” is
astudyin:

(A) Economic Philosophy

(B) Political Philosophy

(C)
(D)

Positivist Philosophy
Religious Philosophy

According to Emile Durkheim, the
number of people in a society and the
amount of interaction that occurs
among them is called :

(A) Material density
(B) Moral density

(©)
(D)

Who among the following holds the

Dynamic density

Social density

view that the social order and

individual autonomy are

compatible ?

(A) Emile Durkheim
(B) MaxWeber

()
(D)

Herbert Spencer

Auguste Comte

According to Emile Durkheim,
Suicide is to be explained by :

(A) Psychological causes
(B) Cultural causes

(C)
(D)

Social causes

Physical causes

(Turn over)



90

(A

gy

- (B)

®

Which of the following is not a
characteristic of Weber’s conception
of city ?
) . It is a relatively closed settle-
- ment ‘

Itis a relatively small

(C) It possesses a market place

It has partial political autonomy

“Who among the following describes

Karl Mérx as a “Political possibilist”

~ratherthan a “historical inevitabilist” ?
LA ; Bertell Oliman

W
®
©)

e

ok

®
- ©

(B) Peter Worsley

C) Friedrich Engels

(D) - Terence Ball

By which of the following concepts
Weber simply meant the probability
that an event will be followed or
accompanied by another event ?

-Hermeneutics
Rationality
Verstehen

(D) Causality .

What did totemism signify according

" to Durkheim ?

(A)" Animal worship
Clan

Simplest religion

(D) Tribal identity

Who has written the book “The

Methodology of Social Sciences” ?

_ “(A) Emile Durkheim

- Rs-827

97,

(12)

95.

96.

(B) MaxWeber
(C) Karl Marx

(D) Auguste Comte

In which year Herbert Spencer was

born ?

(A) 1818
(B) 1820
(C) 1821
(D) 1822

Which of the following is not an
example of a social fact ?

(A)
(B)
(©)
(D)

Language
Individual consciousness
Morality

Suicide rate

Max Weber explained ‘Bureaucracy’

in terms of :

(A) A response to the adminis-
trative requirement of certain

societies

A response to the adminis-
trative requirement of all
industrial societies

(C) A response to the adminis-

trative requirement of

capatalist societies
(D) A response to the adminis-
trative requirement of modern

societies

Contd.



98.

99,

100.

101

RS -

The ‘Petty Bourgeoisie’ was
perceived by Karl Marx as:

(A)
(B)
(©)
(D)

According to Karl Marx, the class

A highly depressed class
A well integrated class
A transitional class

A middle class

struggle mature into revolution only
when the proletariat becomes :

(A)
(B)
(©)
(D)

Class conscious
Class-in-itself
Class-for-itself

Tradition-free

Who has written the book “Indi-
genous roots of Feminism” ? |

(A)
(B)
©)
(D)

Jasbir Jain
Neera Desai
Vina Mazumdar

Vandana Shiva

Which of the following signifies
gender roles ?

(A) Gender roles are result of
differences in biological
aptitude

(B)

Gender roles ascribed by men

and women ,
(C) Gender roles assigned by the
| society to each sex
Gender roles are assigned by

(D)

the society men

8127

(13)

102. Which of the following are the issues

103.

104.

105.

of second wave feminism ?
| (i) Reproductive rights
(i) Voting rights
(iii) Inter-sectionality
(iv) Domestic violence

Select the correct answer from the
Codes given below :

(A) (i), (ii), (i) and (iv)

B) (), (i) and (ii)

(C) (i)and (iv)

(D) (ii) and (iii)

“One is not born but rather becomes
woman.” Who has said this ?

(A)
(B)
(©)
(D)
Who among the following is not a
post-modern feminist ?

(A)
(B)
(€)
(D)

Shulamith Firestone
John Stuart Mill
Simone de Beauvoir
Betty Friedan

Jacques Derrida
Mary Daly
Helene Cixous

Luce Irigaray

Who among the following has written
the book “A Decade of Women'’s
Movement in India” ?

(A) Neera Desai
(B) RadhaKumar
(C) Ursula Sharma
(D) Vandana Shiva

(Turn over)



106. Reservation forwomen in urban local

governance was introduced by which

Constitutional Amendment ?

(A)
(B)
(C)
(D)

107.

72nd
73rd
74th
86th

The SAARC Decade for the girl child

was observed between which of the

following ?

(A)
(B)
()
(D)
108.
(A)

(B)
()

(D)

109.

1975-1985
1971-1981
1981-1991
1991-2000

AIWC stands for :

All India Women’s Convention

All India Women’s Conference
All India Women’s Congregation

All India Women’s Conclave

Which of the following approach that

include modalities of reflecting ways

in which men and women constrain

or advance efforts to boost growth ?

(A)

(B)
(©)

(D)

- RS -8/27

Women and development

Women in development

- Gender and development

Gender and empowerment

(14)

110. Which article of the

Indian

Constitution provides maternity leave

forwomen ?
(A) Article 40
(B) Article 41
(C) Article 42
(D) Article 44
111. Match the following and choose the
correct one from the codes given
below :
(Authors) (Books)
(a) Betty Friendan ()  Women
and
Socialism
(b) Judith Butler (i) Healing
the
Wounds
(c) August Bebel | (m) The
Second
Stage
(d) Judith Plant (iv) Bodies
that

Codes :
(a)
(iii)
(iv)
(i)
(iii)

(b)
(iv)
(iii)
) (v)
) (i)

© ()
(ii)
(i) ()
(iii)
(iv)

(A)
(B)
(©)
(D)

— —

Matter
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112.

113.

114.

RS -

Gender Budget means :

(A) A separate budget for men

(B) A separate budget forwomen

()
impact and commitments into
a budget

(D) To establish gender equality in

abudget

In the Women In Development (WID)
Approach WOrhen were considered
as: |
(A) Beneficiaries
(B)
(®)

(D)

Leaders
Agents of development

Change agents

“Action for Equality, Development
and Peace” is the theme of which
World Conference ?

(A) First World Women’s Con-

ference
(B) Second World Women’s Con-
ference
(C) Third World Women's Con-
ference
(D) Fourth World Women’s Con-

ference

8/27.
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116.

117.

(A)

The Third Wave Feminism was

conceived by :
A)
(B)
(C)
(D)

Naomi Wolf
Rebecca Walker
Rene Denfeld
Rior Grill

Which of the following is not correctly

matched ?

Gender and Land Rights —

Bina Agarwal

‘Gender Inequality and law —

(B)
Flavia Agnes:
(C)

Women and Kinship — Leela

Dube

Women and Conflict — Karuna

(D)

Chanana

Which of the following is the correct
sequence of perspectives on gender
and development in India ?

(A) Welfare, Empowerment,
Development

(B)

Empowerment, Development,

Welfare
(C) Development, Welfare,
| Empowerment
(D) Welfare, Development,
Empowerment

(Turn over)



118.

Gender roles involve ranking of men

and women differently in terms of .
(i)
(i) Relationships

Roles

(iii) Resources
(iv) Power
Select the correct answer from the

Codes given below :
(A) (i), (i) and (iii)
(B) (ii) and (iv)
(C) ()and(v)

(D) (i), (i) and (iv)

119.

120.

RS -

Which of the following is not included
ih the gender inequality index ?

(A) Capacity to determine one’s
own life chances

(B)
(C)

(D)

Adolescent fertility
Political represenfation

Labour force participation

What is correct about feminism ?
(A)
(B)

It negates the role of men

It advocates the rights of

women
(C) It deals with only working
women
It deals only with contribution of

(D)

women

8/27
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121

122

Who has coined the term “Eco-
femin.ism” s

(A) Francoise d’ Eaubonne

(B) Vandana Shiva

(C) Maria Mies

(D)’v Mary Daly

In which Five Year plan, the shift in
the approach from ‘welfare to
develop-ment of women took place
in India ?

(A) Seventh Five Year Plan
(B)
(€)
(D)

Sixth Five Year Plan
Ninth Five Year Plan

Tenth Five Year Plan

123. Gender and development (GAD)

approach has its root in which
Ferﬁinism?

(A) Liberal Feminism

(B) Radical Feminism

(C) Socialist Feminism

(D). Post-modern Feminism

124. \Who is the author of the book “Sexual

Politics” ?
(A) Simone de Beauvior
(B)
(C)

(D)

Germaine Greer:
Kate Millet
Betty Friedan

Contd. -



125. Who among the following has figured (B) Anthony Giddens
debates around gender, sexual (C) Immanuel Wallerstein

. . : . . . -?
violence and euthanasia in India 7 (D) KeriichiOhmae

(A) Aruna Shanbaug

; 129. Who has said “Globalization is
(B) Urmila Power
inclusive of both modernity and post-
(C) Kanchan Chandravanshi .
modernity” ?

(D) K. Venkatesh _
(A) Immanuel Wallerstein
- 126. Which of the following perspective (B) Anthony Giddens
focuses spec:ﬂcally on the relation 10 Maleoim Witers

between patriarchy and capitalism ?
(D) Roland Robertson

(A WD
(B) WAD 130. Which of the following statement is
(C) GAD true about globalization ?
(D) GEM (A) Globalization is purely an

economic phenomenon

127. Relaxing the restrictions and controls
g (B) Globalization is purely political

imposed on business and industry
phenomenon

means :
(C) Gilobalization is the same thing

(A) Globalization 5
as westernization

(B) Liberalization
(D) Globalization is a multi

(C) Industrialization ) )
dimensional phenomenon

(D) Modernization
131. In which year Foreign Exchange

128. G[obahzatlon as leading to a Regulation Act was passed ?

‘borderless world’ in which market

(A) 1971
‘forces are more powerful than
national governments. Who said (). atee
this ? (C) 1973
(A) Roland Robertson ! (D) 1974

RS - 8/27 (17) (Turn over)



132.

133.

134.

135.

RS -

Who has written the book “sociology

of the Global System” ?

(A) Roland Robertson

(B) Leslie Sklair

(C) Mike Featherstone

(D). Immanuel Wallerstein

Who among the following has defined
research as a “systematized effort to

gain new knowledge” ?
(A) Clifférd Woody

(B) Redman and Mory
(C) Robert Burns

(D) Theodorson and Theodorson

Research carried out in order to
improve social situation fof the
betterment of individuals or social
group or an organization is called :
(A) Survey research

(B) Actionresearch

Al

(C) Qualitative research

(D) Quantitative research

Which -of the following research

- methods can be used most

appropriately for the objective,

8127

136.

137.

guantitative and systematic study of

communication material ?
(A) Observation

(B) Interview schedule
(C) Oralhistory

(D) Contentanalysis

Pre-testing of a Questionnaire is

useful for:

-(A) Finding out which topics are

important‘to the respondenté

(B) Testing out your computer and
" printer
(© Identifying any problem with the
question wording and routing

(D) Decidving which respondents to

leave out of the final sample

Which of the following is a correct _

sequence in data analysis ?

(A) Coding, classification, tabula-
tion, editing

(B) Classification, coding, editing,
tabulation

(®)) . Editing, coding, classification,
tabulation

(D) Tabulation, classification,
coding, editing |

Contd.



138. Which of the following are the correct

sequential steps of social research ?
(a) Data collection
(b) Hypothesis
(c) Problem formulation
(d) Objectives
‘(e) Analysis of data
() Report writing
Codes : .
(A)  (a)(c), (b). (d), (e). (f)
~ (B) (b),(0), (a), (@), (e). ()
(€) (d). (). (). (a) (e). ()
(D) (c).(d), (b), (a). (e). ()
139- A declarat»ive statement of

relationship between or 'amon'g ‘

variables is called :
(A) Concept .
(B) Value
(C) Hypothesis |
(D) Norm
140. The extent of difference between

popuiation parameters and the

sample statistic is called :
(A) Sémplihg error
- (B) Statistic |
(C) Sampling bias
(D) Sarﬁpling frame

RS - 8/27 } (19)

141. Variance is :

142.

143,

144,

(A)

(B)
()

(D)

Range
Quartile Deviation
Measure of skewness

The average of the squared

differences from the mean

A researcher is generally not

expected to:

(A)

Study the existing literature in
a field

Generate new principles and

© theories

(D)

Synthesize the ideas given by
others
Derive inference from own

experience only

Case study is the form of :

(A)

(B) .
(®)

(D)

Subjective analysis
Qualitative analysis
Quantitative analysis

Objective analysis

A concept made measurable is -

called :

A)

- (B)

()
(D)

Attribute

Variable

Theory
Fact

(Turn over)



145.

146.

147.

- (©)

148.

RS -

Which of the following is not

characteristic of a good hypothesis ?
(A) Vastness

B)
(C)
©)

Clarity
It must be specific

Related with available

techniques

Which of the following statement on

hypothesis is wrong ? | 7

(A) It states a logical relationship
between events |

(B)

(C) ltis a linked between theory

and investigation

Itis a proposition

(D) Itis an initial step in scientific

research

The set of cases in the population
from which the sample is generally
chosen s called : -

(A)
(B)

Sampling frame
Sampling unit
Sampling element

(D) Sampling trait

A sample in which the number of
cases in particular categories of
interest to the researcher is

predetermined :

(A) Purposive sampling

8/27
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149.

150.

151.

(B) Quota sampling
(C) Clustersampling -

(D) Snowball sampling

The use of random tables for drawing

a sample is'called as :

(A) Simple random sampling
(B) Quotarandom

(C) Lottery method

(D) Tippet's method

When number of samples is more
than two but it is neither certain nor
decided in advance, this type of
sampling frame is often referred as :

(A)

(B)
(©)

Sequential sampling
Cluster sampling
Judgement sampling

(D) Areasampling

A techhique where the researcher
immerses herself or himself ’into the
reseérch setting to make obser-

vations is called :

(A) Participant observatiron

(B) Interview schedule

(C) Non-participant observation

(D) Overtobservation

Contd.



152.

" 158.

154,

In a closed ended Questionnaire, the

questions have :
(A)
(B)
(C)

Very closed choices
Fixed choices
Open choices

(D) Open and closed choices

The questionnaire method is not

applicable if : )
(A)
(B)
(C)

(D)

There is a large population
There is a widerspread literacy
There is illiteracy

The area is vast

Quartile deviation is also known

\

as:

(A) Range

155.

RS -

(B)

(C) Semi-inter quartile range

Inter-quartile range

(D) Coefficient quartile deviation

Find the median of the following

data :

150, 160, 180, 210, 200, 250, 300
(A) .160
(B) 210
(C) 250
(D) 300

8127

- 156. The extent to which something varies/

(21)

157.

158.

159.

(A)
- (B)

(©)

differs across cases :

(A) Variable

(B) Attribute

(C) Variance

(D) Co-efficient

Which of the following visual tool

used to show the relationship

between two variables ?

(A) Multivariate
(B) Scatterplot
(C) Correlationi
(D) Hypothesis

Which of the following research uses

panel study ?

Cross-sectional research
Longitudinal research

(C) Time-series research

(D) Experimental research

A hypothesis stating that there is no
significant effect of an independent
variable on a dependent variable is

called :
(A)
(B)

Null hypothesis

Alternative hypothesis
Double-barreled hypothesis
(D) Statistical hypothesis

(Turnover)



160. In which of the following type of

research, needs assessment and

cost-benefit analysis are used ?

(A)
(B)

(C) Case study research

(D)

Basic research

Applied research

Exploratory research

161. Find the ‘range’ of the following

data

i

350, 280, 340, 210, 320, 315, 420

(A)
(B)
(C)
(D)

340
210
400
200

162. Match the following and select the

correct one from the codes :

(Concepts & Techniques)

RS — 8/27

(a) Paticpant (i)

Obervation

(b) Content Analysis (ii)

(c) Conjectural (i)

(d) Research Design (iv)

(Authors)
Johoda

and others

Charles
Booth

B.
Malinowski
RK
Merton

163.

164.

Codes :
@ () () @@
(A) (i) Gv) (D) ()
B) () (@) (i) (v)
(C) (v) (i) () (i)
@ O @) (i) @
Which of the following is not a tool /
technique of data collection ?
(A) Research questions
(B) Unstructu.red'interviewing
(C) Postal survey questionnaires

(D) Participant observation

Involves an in-depth and

detailed examination of a subject as

165.

well as, its related contextual
conditons.

(A) Observation

—~

(C
(D

)

B) Interview
) Case study
)

Questionnaire

If x (Mean) is 48, Median is 47, Mode

. value will be :

(A) 44
(B) 50
(C) 45
(D) 49

Contd.
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